% — B Bt

HF6E 68 28
ZNEN728)

AfRLF 2S5 —0D8B (46)%
IBhi| K £ |OUT| IN |GROSS|HDCP| NET
1 Wt =& 34 40 74 8 66
2 B =& 40 39 79 12 67
3 B NE 37 39 76 8 68
4 AN I& 37 40 77 9 68
5 IRE  HEH 38 37 75 4 71
10 iE IEA 41 41 82 9 73
15 B RE 47 40 87 13 74
20 S BA 43 45 88 13 75
25 BlE X 42 44 86 10 76
30 g =02 46 43 89 12 77
BG &0 [ 37 35 72
Bi#kLF 2S5 —DE0 (55) £
1 £B EE 42 | 42 84 20 64
2 | BE = 45 | 44 89 22 67
3| B ' 46 | 42 88 20 68
4 | FEX B 44 | 47 o1 23 68
5 | #B EX 47 | 46 o3 25 68
10 28 B8 52 48 100 30 70
15 ™A IEH 49 44 o3 22 71
20 B =8 51 44 95 22 73
25 s == 46 44 90 15 75
30 =1 DA/ 46 49 95 19 76
BG| £H &= 42 42 84




= — B Bl M

TS5V R ZPOE (60) &
1 Wik 1E— 44 37 81 28 53
2 ERAKR=8 43 44 87 28 59
3 AEB BAA 40 40 80 19 61
4 A& FX 36 43 79 17 62

S REB &7 39 | 35 74 10 64

10| ik RSB 37 | 39 (6 7 69

15| A 8L 41 42 83 13 70

20| EBF & 42 | 47 89 18 1

25| &AM H— 42 | 44 86 13 73

30| & £ 46 | 46 92 18 74

BG| RHB &7 39 | 35 4

LT 1 —ADER GIDE=

BREERT 41 40 81 13 68

1
2 AN =] =] 41 43 84 16 68
3 AR BE 42 | 39 81 10 1




